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& 202284 E H2Xt WSS SIIHL T2 Y BEZ IA 42 2
1.0l Z208 = 42X (SEX: 69, L& 99)
S E
= = He 2= | orx 2E 200 | e 28
(/%) (/%) (24/%) (/%) (/%)
1.57|-54 29 HMutol| tfstod of L MztatalL7t? 4 | 67% |2 | 33%
2. 79 = Alzholl tisto{ ZHESHY L 71? 3 150% |2 [33% |1 |17%
3.'ZAboll tfsto] 2HESHY L 7L? 5 | 83% 1 117%
4 2270l tfsto] 2HESHY L 7L? 5183% |1 |17%
5.5 HM(2g ¢l@) ol tisto] BHESH L 3 150% (|2 [33% |1 |17%
6.7 &4 & Z27|0f tioll 2SS L I}? 6 | 100%
7.7 W&ol chsl 2FEaA L7t 5 183% |1 |17%
8.0{2 72 ~ZA Lol =F0| =A5H I 5 (83% |1 [17%
9.0{2 72| ‘Atw|H|'S =Zo|=tl ==0| =HAFHI? 4 |67% |2 | 33%
10.2e2r E7[-Ay Zzado Fojet Yol AN [4 [ 67% |1 [17% |1 | 17%
2. HHEQIE Z20 BEZ H2X(SEX: 79, +USY: 229)
= [l
& = W orx | orx 2 20 | R =8
(/%) (/%) (/%) (%/%) (/%)
1.571-54 29 dhol tistod o{EH W25 7t? 5 [71% |2 | 29%
2./ 79 =¥ Alzboll tisto] 2HFSH L7 5 |71% |2 | 29%
3.°ZAboll tisto] ZHESHY L 7L? 6 |86% |1 |14%
4. Z2 W0l i3t RFEE L 7E? 5 71% |2 | 29%
5.9 HM(29 ¢l@) ol tisto] 2SS LI 5 |71% |2 | 29%
6.7 &4 & Ef7/0l tisi 2FSHLI? 7 | 100%
7.7 Lo thalf 2EESHALE? 6 | 86% |1 | 14%
8.0{2{ 2ol AFA Lo 30| =AFHI? 6 |86% |1 |14%
9.0{8{ =2 ‘AtwFH|'E E0|=H =F0| =HAFHI? 6 | 86% |1 | 14%
10.9025 S7|-84 Z2aof &gt dzto] AEUI? |5 | 71% | 2 | 29%




e D20 UEE S2X(SEX: 10H, 28 169)
- =
C = e o= | s 2= 20 | IR 20
(/%) (24/%) (/%) (/%) (24/%)
1.57]-8M 2 uto| tisto] ofEH AZtstalLnp? 8 | 80% |2 | 20%
2. 79 = AlZPoll thsto] ShESHA U E? 7 |70% |3 | 30%
3.'ZAboll tiatod FESAL 77 7 |70% |2 |20% |1 | 10%
4 Z20]| thstod BHESH L7 8 | 80% |2 | 20%
5.5t B (=Y ) ol tisto 2HESHY L 8 | 80% 2 | 20%
6. 7% A U 2270 thsl prESHI U7 8 |80% |1 |10% |1 |10%
7.7 W&ol thol 2SS L 7L? 8 | 80% |2 | 20%
8.0i8{ =2 ~FA Lol =20] =AE5HIH? 8 [80% |2 | 20%
9.042{ 22| ‘At FH|'E Zo|=Hl =20| =HASUIH? 8 |80% |1 |10% |1 |10%
10.2 22 E S7|-8M Z2aof Eoigt 4ztol A547? |8 [ 80% |1 |10% |1 | 10%
2EH A3 Z2IY 5 HSX(SEX: 109, £24sH4: 149)
- =l
C = e o= | s 2= 20 | IR 20
(/%) (24/%) (%/%) (/%) (24/%)
1.57|- 84 25 Tutoll cisto] o{EA H2Ztska L nt? 6 | 60% |4 | 40%
279 = AlZholl thsto] 2RSS U ? 6 [ 60% |4 | 40%
3.'ZAboll tiato] SFESA L 77 7 | 70% |3 | 30%
4./ 22 80f TSt BHESYL{7L? 6 | 60% |4 | 40%
5.5t HA (=S 2ld)ofl ti5to] 2HESHY L )t? 6 | 60% |4 | 40%
6.7 =& A Z9|700of thHall THESHYL7}? 5 |50% |5 | 50%
7.7 &0l thol 2SS L 7L? 6 | 60% |4 | 40%
8.0{2] =2 AFA ol =F0| =HASHI? 6 | 60% |4 | 40%
9.042{ =2 ‘AMWFH|'E Z0|=0 =20| =AFHI? 5 150% |4 |40% |1 | 10%
10.92 2 57|- M4 =2 80| Foigh M2to| JEU7? |7 [ 70% |1 | 10% |2 | 20%




20228tH T F2X LUEstn WO T2 OHET IAL &2 ZW
£E1(0Ix) =T d2X(SEA: 7H, LS4 119)
= [l
&= 2 He or= orx BE £0 e St
(/%) (/%) (/%) (/%) (24/%)
1.29 et cistod ofEH Mzttt 4 |57% |2 |29% |1 | 14%
2. g = AlZPol| 5o 2HESH 712 3 [43% |3 |43% |1 | 14%
3.'ZAbol tisto] gEESHA U 7L? 5 [71% |1 | 14% |1 | 14%
4 Z2 ol tisto] LHFSIA Y 7L? 4 |57% |1 [14% |2 | 29%
5.5t HA(E=Y Q) ol tisto] 2SSty t? 4 |57% |2 |29% |1 | 14%
6.7 2 % 2270 tis 2SS Yt 4 |57% |2 [29% |1 | 14%
7.4 W&o sl ehESHMLE? 5 171% |1 [14% |1 | 14%
8.0i2{ 22| st&aal o AFA o EF0| HASHI? 4 | 57% |2 |29% |1 | 14%
9.042{ 22| ‘Atm{H|'E ZFo|=H =30| =HAUEUII? 5 [71% |1 | 14% |1 | 14%
10.22 2% fiEuan =2 aMof Zo{g Mzto| ASZUMN? |4 | 57% |2 | 29% |1 | 14%
L ARBIBOIE) Z20Y EL HE2X(SEX: 3%, UM 99)
= =i
& = He otx | orx 2E 20 | R 28
(24/%) (/%) (/%) (/%) (/%)
1.29 Mgt thstod of @A Mztsta e 2 |67% |1 | 33%
2. 72 = AlZPof|l tfstod SHESHM L 7t? 2 |67% |1 | 33%
3.'ZAPol tisto] 2RSS U 71? 2 [67% |1 |33%
4 ' Z280 cisto] ZHESHN U 7E? 2 [67% |1 | 33%
5.5 HM (=Y ¢ld) ol thstod 2SS L 7E? 2 |67% |1 | 33%
6. 5% 2@ % 2270 tfsl 2SSt U ? 2 |67% |1 | 33%
7.4 W&ol sl ehESHL7E? 2 [67% |1 |33%
8.0{2{ 22| stgeral Y A ol =F0| =AU 2 |67% |1 | 33%
9.0i2{ 22| ‘AlLSH|'E Eo|l=Hl T80l HAUEFUI? 2 [67% |1 |33%
10.2 02 s uwnt T2 J30 Foje MZto| AZHI? |2 [67% |1 | 33%
L E3(0IR) Z20Y EL H2X(SEX: 3Y, UM 79)
= [
& = W orx | orx = 20 | e =
(/%) (/%) (24/%) (/%) (/%)
1.2% Mol cistod of e MztskpiL 3 | 100%
2. 72 = AlZPofl tfstod SHESHM L 7t? 3 | 100%
3.'ZAPol tistod 2RSS U 71? 3 | 100%
4. ' Z22’0f st THESHM L 7}? 3 | 100%
5.'5t2 HA(st2E Ql)of thsto] 2SS L }? 3 | 100%
6. 4% g % 2270 sl 2SS U IE? 3 | 100%
7.7 W&o s 2SS L E? 3 | 100%
8.0 22| st&akat I AEA o =F0| =UASHII? 3 | 100%
9.042{ 22| ‘AtmFH|'E ZFo|=H = F0| FHAEUI? 3 | 100%
10.22 2 s uwn =2 J30 Foje MZto| AZHI? |3 | 100%




HO3(0Ix) T2 SEE 42X(SEA: 38, s 79)
% (=3
& = e etx | otx 2 20 | R 20
(2/%) (/%) (/%) (8/%) (2/%)
1.2 Hubol|l thatod o{LH Mzt L 7t? 2 | 67% |1 | 33%
2.7 ¢ AlZboll thstod 2EESHA L 7L? 1 133% |2 | 67%
3. ZAboll thstod BEESHY L 7? 2 | 67% |1 | 33%
4. Zm220f Cfsto] SHESHY L 7t? 2 | 67% |1 | 33%
5.5t Hd(sh=d olY)ol tfsto] BtESHY L 71? 2 | 67% |1 | 33%
6.4 4 3 2270l thal BEESHYL7L? 2 | 67% |1 | 33%
7.4 Lol ool BEESHYL7E? 2 | 67% |1 | 33%
8.0i2{ 22| st&aat 3 XA ol £o| =ASU I 2 | 67% |1 | 33%
9.042{ 22| ‘AW gH|'E Fol=t| E0| =EHAGHI? 2 | 67% |1 | 33%
10.9f22% osfguat Z2agol FHoigh dzto| AS4I? |2 | 67% |1 | 33%
201(ES4E) T2 =E S2X(SEA: 29, 28 9H)
g g
& = W orx | orx 2 20 | 1R =¢
(54/%) (8/%) (54/%) (/%) (8/%)
1.2 dhol tisto] ofEH W25 L 7t? 1 | 50% 1 | 50%
2./ 78 ¢ AlZbol| tisto] REESHA L 71? 1 | 50% 1 | 50%
3.'ZAbol tisto] BkEsHY L 7k? 1 [50% |1 |50%
4. 'Z200f thato] SRS UM 1 [50% |1 |50%
5.5t Hd(sh=d oY) ol tisto] etESHY L 71? 1 |50% 1 | 50%
6./ 7% 4 2 22700l s THESHAL7L? 1 150% |1 | 50%
7.7 S0l sl gEEsHA U L? 1 |150% |1 | 50%
8.0 22| st&akdt & AZA Lol =20| =ASHI? 1 | 50% 1 | 50%
9.0i3{ 22| ‘AMugHI'E Fol=tl Ego| HAEHI? 1 150% |1 |50%
10.¥2 2 sigduat =2 a3of Fofgh Mzto| AEHI? |1 | 50% 1 | 50%
dol1(2543) ZRIY A= Y2X(SEA: 58, +YSA: 8Y)
g g
= = e 2= | ks 2 S0 | 0HR 22
(/%) (8/%) (2/%) (/%) (8/%)
1.2 Hholl oisto] o g 25t U 7t? 4 180% |1 | 20%
2. 79 = Alzboll tisto{ ZHESHY L 71? 4 [80% |1 | 20%
3. ZAbol thsto] gkEsh L 7k? 4 | 80% 1 | 20%
4. 2080 thato] SEESHY U 4 180% |1 |20%
5.5 HA(E=Y 2fl) ol tisto BtEaY L 7t? 4 | 80% 1 | 20%
6. 7% 4 2 22700l chs gHESHLL? 4 180% |1 |20%
7.7 ol sl gEESHUL? 4 180% |1 |20%
8.0 22| st5eks & AFA Lo =20| = ASHI? 4 |80% |1 | 20%
9.04f{ 22| ‘AmgHI'E Fol=tl Ego| =HAFHI? 3 | 60% |2 | 40%
10.¢02% siZunt 2o Zojdt Yztol AEHI? |2 [ 40% |1 | 20% [2 | 40%




HE2001x, 2848 Z20Y EE H2I(SEX: 9Y, st 129)
= =
& = e etx | o5 2 20 | 1R S0
(2/%) (2/%) (2/%) (/%) (2/%)
1.2 dutofl thsto] OB MzZisty ut? 8 |89% |1 [11%
2.'79 = AlZPoll thsto] 2RSS U7 8 |189% |1 |11%
3. ZAbof tHstod gHESHA L 7747 8 189% |1 [11%
4 ‘T2 J200f CHst0] DHESHA U 7E? 8 |89% |1 |11%
5.9t HA(sta2d 2A¥) o tisto] gEEsHA Yt 8 [89% |1 |11%
6.7 =4 F 2270’0 thal SHESH U 7L? 8 [89% |1 |11%
7.5 8o disl 2R U ke 8 | 89% 1| 11%
8.0{2{ 22| stgarat 3 AT o TF0| =HAGHI? 8 | 89% 1| 11%
9.02{ 22| ‘Alm{H|'E Fo|l=dl TS0l =HASHI? 7 178% |1 [11% |1 |11%
10. 402 ol Gunt =220l Zo{gh Mzto| AEUI? |5 | 56% |4 | 44%
£8200|=, E843) T2 UAFE H2A(SEX: 48, S84 9Y)
= &
& = W orx | orx 2 20 | 1R =¢
(2/%) (%/%) (2/%) (2/%) (%/%)
1.2% Mt tHsto] o EH M2tk L 7t? 3 (75% |1 |25%
2.7 = AlZbof| thsto] BHESHAL7L? 3 | 75% 1 |25%
3.°LAPol tisto] 2EESHY U 7L? 3 175% |1 |25%
4. 228’0 cisto BEESHY U 7E? 3 |75% 1 |25%
5.5t HA(staE ¢l{)of thsto] 2SS L }? 3 175% |1 |25%
6. 7% A 2 227]'0f sl TFESHML7}? 3 | 75% 1 |25%
7.5 8o tisl 2R 7? 3 | 75% 1 |25%
8.012{ 22| stgekel A Ao T=Z0o| =HASYI? 3 [75% |1 |25%
9.0{2{ 22| ‘AMW{H|'E Fo|=6 0| =HAGHI? 3 175% |1 |25%
10.942 2% sidmat =2 aof Eost Mzto| JEUI? |3 | 75% 1 | 25%
dol2(2HAs) ZRIY A= H2X(SEA: 5, $YSM: 7Y)
= &
= = e 2= | ks 2 S0 | 0HR 22
(2/%) (2/%) (2/%) (2/%) (%/%)
1.2 Hutol tHsto] OB M2tk L 7t? 4 180% |1 |20%
2. 75 ¢ AlZPoll thsto] SrSstM Y k? 3 [60% |2 |40%
3./ ZAbof thstod BHESHA L 774? 4 180% |1 |20%
4./ =2Y0f cfsto] SFESH L 7E? 4 | 80% 1 | 20%
5.5 HM(EZE ¢lel)ol tisto] BHEsH L 4 | 80% 1 | 20%
6. 7% A 2 22700 disl SHEEHMU7}? 4 | 80% 1 | 20%
7.5 W80 tisl 2R }? 4 | 80% 1 | 20%
8.02{ F2| stgekal 3 Ao 20| =HASYII? 4 | 80% 1 | 20%
9.0{2{ 22| 'AMn|H|'E Fo|=0 =&0| EHASHI? 4 | 80% 1 | 20%
10.2 2% sidmnt =2 o] EoJt Mzto|l JEUI? |1 | 20% |2 | 40% | 2 | 40%




10. SO0A(SA) T2 =5 42X (SYX: 3Y, £2AstM: 5H)
= =
= = e ot ot 2E S0t e 2o
(/%) (/%) (/%) (/%) (/%)
1.29 Mol cisto] ofgr Mzt nf? 3 | 100%
2.7 = AlzZbol| tfsto] pEESHA U E? 3 | 100%
3.'ZAPol tisto] 2RSS U 71? 3 | 100%
4 =20l Cisto] THESHML7? 3 | 100%
5.'5t2 HA(s2E Q) o tisto] 2SS L t? 3 | 100%
6.7 2td 2 2700 sl LEESHA L E? 3 | 100%
7.4 W&ol sl ehESHLE? 3 | 100%
8.0{2{ 22| stgeral Y A o =F0| =ASZH I 3 | 100%
9.0i3{ 22| ‘AtWSH|'ES Foled =30l HASFHI? 3 | 100%
10.2e 2 s wn =230 &oje MZto| ASHI? |3 | 100%
11, Ws3(E54s) T2 0= S2A(SEX: 109, =284 169)
g =]
& 2 He ot= orx 2E Sot e Sot
(/%) (H/%) (/%) (2/%) (/%)
1.2 ™ol cisto] of g Mzt m? 9 |90% |1 | 10%
2. 34 = AlZboll tfslo] REEFHA L 7L? 8 |80% |1 |10% |1 |10%
3. ZAbol Cisto] gEESHA L 71? 9 |90% |1 | 10%
4z 2of ol 5o DEESHA L ? 9 190% |1 | 10%
5.'8t8 HA (=Y elY) o thsto] eSSt mf? 9 |90% |1 | 10%
6. 5% g % 2270 tisl 2SS U 9 |90% |1 | 10%
7.4 W&ol chslf ShESH U E? 9 |90% |1 | 10%
8.02{ 22| st&akal 2 A o =0 EHUASZU I 9 |90% |1 | 10%
9.043{ 22| ‘AtWSH|'S Foled =0l HAUASHI? 9 |90% |1 | 10%
10,222 siEwn =2 8o Eofdh Mztol AESHI? |9 | 90% |1 | 10%
12. NBI3(2EMS) 208 XS S2X(SEX: 12%, 2YS4: 169)
g =]
& = e ox | orx = 20| iR =¢
(/%) (H/%) (/%) (/%) (/%)
1.2 Mol chsto] of G MZist Y mt? 9 | 75% | 3 | 25%
2. 372 = AlZPol| tHstod SHESHM L7 101 83% |2 | 17%
3. ZAbol Cisto] gEESHA L 71? 10/83% |2 | 17%
4 =20 tisto] 2RSS U 71? 10/83% |2 | 17%
5.8t HA(EZE ol)of thsto] gHEsh L 7}? 10/83% |2 | 17%
6.+ &d 2 29700 this 2HESHIH7E? 9 | 75% | 3 | 25%
7.5 WEol thall 2SS Yot 10| 83% |2 | 17%
8.0i2{ 22| st&akal o Aol =F0| = ASHI? 10/83% |2 | 17%
9.04B{ 22| ‘AlWSH|'E FEol=tl T&0| HAUAEUI? 10/83% |2 | 17%
10.22 2% siHmnt =2 3200l Fojet M2to| ASH7E? | 10| 83% |2 | 17%
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0
1
o
o
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= cCt
e = e o= | o5 Hs 20 | 0§ =0
(2/%) (/%) (8/%) (2/%) (8/%)
1.2 Hgtof thato] of @A MZtstA L t? 2 | 67% |1 | 33%
2.7 ol AlZbof tisto] gFEstA L} 2 | 67% |1 | 33%
3.'ZAPof| thstod gHESHA L 77L? 2 | 67% |1 | 33%
4. 220 fisto BEESHY Y 7L? 2 | 67% |1 | 33%
5.5t HA(t=E 2l{)of thsto] 2SS L 7}? 2 |67% |1 | 33%
6. & I 27’0 s 2HEEHALL? 2 | 67% |1 | 33%
7.7 W&o thsll BEESHM L7 2 | 67% |1 | 33%
8.0{2{ 22| st&arat I AZA o =F0| =HASHII? 2 | 67% |1 | 33%
9.0{2{ 22 ‘MuKH|'E FHo|=0 20| =ASHI? 2 | 67% |1 | 33%
10222 ofPut =280 Fojgh M2fo| ASH7? |2 | 67% |1 | 33%
14, dE(=s7) Z208 = S2X(SEA: 5Y, =284 8Y)
= cCt
e = e ot | orx He 20| iR =@
(%/%) (/%) (5/%) (%/%) (/%)
1.2 Mutof| cistod of = M2tsh L 7t? 4 |180% |1 |20%
2./ 79 = AlZPoll tfsto] 2RSS U 4 180% |1 |20%
3. ZAbof thstod 2HESHM L 77L? 4 |80% |1 |20%
4= 20| thstod gHESH L 77k? 4 180% |1 |20%
5.5t HM(aE olfd) ol thstod BHESHL7}? 4 180% |1 |20%
6.7 24 2 2270 cfsl BHESH L 7L? 4 |180% |1 |20%
7.7 W&ol thsll BEEsH L7 4 |180% |1 |20%
8.0 2| stgekel A AZA I =Z0o| =HASH I 4 180% |1 | 20%
9.0{2{ 22| ‘MuKH|'E Fol=6 20| =HASHI? 4 180% |1 |20%
10,422 sl Guwat =220l Fofgh dzfo|l A4 7t? |5 | 100%
15. 20IB(¢3) T2 H=Ex Z2X(SEA: 69, =M 149)
= cCt
= = e o= | orx HE S0 |01 22
(2/%) (/%) (/%) (%/%) (/%)
1.2 Mutof| cistod of B M2tsk L 7t? 6 | 100%
2.3 ¢l AlZholl tfsto] gEEEH L7 6 | 100%
3. ZAbof thstod BHESHY L 7747 6 | 100%
4. 220l Cf5t0 BHESYL7L? 6 | 100%
5.5t HY(=E olfd) ol tistod BHESHY L 7}? 5(83% |1 |17%
6.7 &4 2 22710 sl 2rESH L 7? 5(83% |1 |17%
7.7 W&o hsll eFEsk Lk 6 | 100%
8.0 2| stgekel 3 AZAEo T Z0| =HASYI? 6 | 100%
9.0{2{ 22| ‘MuKH|'E Eol=dl =0| =HAZHN? 5 | 83% 1 117%
10,422 s Guwnt Z2a2ol| Fofg dzfo|l ASH7? |6 | 100%
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